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s 1,200,000 0 1,200,000
Al 989,800 0 989,800
= 2,306,000 0 2,306,000
= 8,869,823 7,959,352 910,471
OlMBlD HNs TzEd XA 13,212,832 7,841,032 5,371,800
s 1,200,000 0 1,200,000
Al 989,800 0 989,800
= 2,306,000 0 2,306,000
32 8,717,032 7,841,032 876,000
ALMFAR 584 HD 62,323 48,523 13,800
Al 13,800 0 13,800
32 48,523 48,523 0
Gt=2=2tel 13,800 0 13,800
Al 13,800 0 13,800
201 LBt 13,800 0 13,800
Al 13,800 0 13,800
01 AF2 22| H 13,800 0 13,800
O ot AREX 284 13,800,000 13,800 0 13,800
Al 13,800 0 13,800
T2 9,052,000 5,100,000 3,952,000
= 700,000 0 700,000
Al 600,000 0 600,000
= 2,306,000 0 2,306,000
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Ho1sE HEXW S2Ma 200,000 0 200,000
401 AlZHIZ =2 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O Wo1sS 11SXAW T24&  200,000,0002 200,000 0 200,000
2E4E MENW S2ML 50,000 0 50,000
401 AlEHIZ =Y 50,000 0 50,000
01 Al&HI 50,000 0 50,000
O 284S 11EXUH E2MHL 50,000,000 50,000 0 50,000
SHNS2Y Y 2EH 2,306,000 0 2,306,000
= 2,306,000 0 2,306,000
401 AlEHIZ =20l 2,306,000 0 2,306,000
= 2,306,000 0 2,306,000
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01 A& HI 100,000 0 100,000
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= 500,000 0 500,000
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= 500,000 0 500,000
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= 500,000 0 500,000
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